MAT  221


Extra Practice for Test 2
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Roman Numerals:  

M = 1000, D = 500, C = 100, L = 50, X = 10, V = 5, I = 1
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1. Write the following numbers in Roman numerals:
a) 783

b) 674

c) 1395

d) 1999

e) 459
f) 2948
2. Convert each number into base 10. 
a)   3 5 2 8

b)   1 0 1 0 1 1 2
      
c)   3 2 0 1 5              d)  1 4 5 6

3. a)   In base 10, which number comes after 
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b) In base 6, which number comes after 
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c) In base 3, which number comes after 
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d) In base 10, which number comes before 
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e) In base 7, which number comes before 
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f) In base 4, which number comes before 
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4. Which number comes after the given number in the specified base?  
a) 68 9

(b)  11112

(c)  45 6

(d)    445

5. Which number comes before the given number in the specified base?  
a) 306

(b) 10002

(c)  8009

(d) 2305
6. a)   Convert 
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b) Convert 
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 to base 10.
c) Convert 
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 to base 10.
7. Convert each base 10 number into the specified base or system.  

a) Convert 341 to base 5



d) Convert  78 to base 4






b)  Convert 103 to base 3   


e) Convert 99 to base 2  




c) Convert 235 to base 7  



f) Convert 689  to base 6     (Hint: 
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8. Perform the following operations.  

a)  2 1 5 8   +   5 6 7 8


d)   3 4 2 7   –   1 6 4 7
b)   2 2 3  +  1 2 3



e)   4 4 0 5   +   2 2 4 5

c) 2 3 0 1 4   –   1 2 1 3 4


Mores examples on “homework 6.”



********************************************************************************
9. Work the first example of each operation out with the common algorithm. For the following two, use an alternative algorithm. Name the alternative algorithm you are using.
 


       For alternative algorithms: Show work on notebook paper as appropriate.
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       Answer:



   Answer:




      **************************************************************

       For alternative algorithms: Show work on notebook paper as appropriate.
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        Answer:



   Answer:




      **************************************************************


       For alternative algorithms: Show work on notebook paper as appropriate.

common 

algorithm
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**************************************************************

10. Work as long division (keep remainder if not a multiple):
a) 10,635
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b)   124,269
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11. Work with the Scaffolding Algorithm (keep remainder if not a multiple):
a) 32,424  
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b) 37,307
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c) 13,410
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*********************************************************************************
12. For the following problems:

a) Work the problem out correctly. (No explanation necessary in this first step.)

[In steps b) – d) talk directly to the student. Be as specific as possible and include appropriate terminology in all explanations.]

b) Looking at a rough estimation or at the reasonability of the answer, alert the student that there must be a mistake in his/her work.

c) Identify and explain his/her mistake to the student.

d) Talk the student through the correct calculation focusing on avoiding the mistake from before.
Ben calculated:
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*********************************************************************************
13.   Work “Extra Practice, Logic, Part B (arguments)” (You can print it out from the 
   webpage http://ola4.aacc.edu/sclayton1 )
   Answers to compare against are also posted on  http://ola4.aacc.edu/sclayton1 .

       Translate the following numbers to base 10:


M C C L X V I I


C M V I


C C C X L I V


M M D C L I I I


D X L V I I


M X L V








Anne calculated:
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